Errata for the Third Printing of Discovering Design with Earth Science
Student Text

p. 415 “Typically, sleet is about 0.2 inches (0.05 centimeters)” Should be 0.5 ¢m.

Answer Key & Tests

p.29 In#14, “along the inner core” Should be outer

p. 31: In#2, “identify (A) — (E)” Should be (F)
p. 60 In#12, “All of the earth’s saltwater is in found in the oceans.” Should be removed
p- 96 In#11, “In the late 1600s and earth 1700s,: should be early

p. 105 #13 should end with a question mark, not a period.



